HERIbEARRELS

EANBAIREEEEES

(B) &H6%4H1H

(£) H#M743H31H

s —

BIEHE—HL (5B

=5 MIARHMR)

(B4 : [)
EyERIE LERRE(A) BIEREARE(B) HEiR(A)-(B)
MERRBRING 626, 075, 222 607, 495, 948 18,579, 274
EABUSEEUE 266, 946, 947 248, 456, 833 18,490, 114
IRERUEFRINE 39, 364, 900 32, 852, 300 6,512, 600
g EREEINS 0 0 0
TOMOEZRINEE 549, 539 971, 000 -421, 461
" BEREFHEING 120, 000 110, 000 10, 000
| Y-ERESINGSET (1) 933, 056, 608 889, 886, 081 43,170, 527
[« A& 602, 330, 511 570, 315, 533 32,014,978
= 173, 593, 801 169, 108, 346 4, 485, 455
g ES50 417,529, 258 48, 842, 051 -1,312,793
| |FIRERERHNE 653,216 519, 065 134, 151
| RSN 82,915, 063 83, 050, 208 -135, 145
2 i E BN EE R BIAE I I ERRE -23,194, 842 -23. 140, 642 -54, 200
[ e e e 0
BENE%KER 0
BESIHSBA 0
HURTHERR 0
Y-EXESERT (2) 883, 827, 007 848, 694, 561 35,132, 446
Y-EXEENERELE (3) = (1) - (2) 49, 229, 601 41,191,520 8,038, 081
H RHUF SR BN 158, 110 3,252 154, 858
|“ IY | SRS S F BT & R SR 0 0 0
; 5 | ZOfhOY - EENIMNZE 2,475,213 2,887, 498 -412, 285
| [P-ERERSMREET (4) 2,633,323 2,890, 750 -257, 427
)] SIFIR 1,265, 689 7,529,027 -263, 338
I g |HREILEIS SR E A S THAIE 0 0 0
ji A | zoftioY—-EEESNER 657, 846 796, 201 -138, 355
o Y-EXESSERET (5) 7,923,535 8,325,228 -401, 693
B (- EENIMERESE (6) = (4) — (5) -5, 290, 212 -b,434, 478 144, 266
EEEREE (7) = (3) + (6) 43,939, 389 35, 757, 042 8,182,347
SR RSB IR 5, 969, 000 185, 000 5,784,000
EE&ETTAIER 0 19,999 -19,999
5| 5 [F-EREAMEA S 0 0
Al TOMOFFRIINEE 15,148, 313 13, 730, 328 1,417,985
ji FFRIRERET (8) 21,117,313 13, 935, 327 7,181,986
o EEMBEEHREIEIARE (REIE) 5,969, 000 5,969, 000
5 i HoC RS IEA R 0 0 0
FERIERET (9) 5,969, 000 0 5,969, 000
HERIZHESE (10) = (8) — (9) 15,148, 313 13,935, 327 1,212,986
UHBEEMEEAEE (11) = (7) + (10) 59,087, 702 49, 692, 369 9,395, 333
# | FIARIRAUEENEIRERR (1 2) 100, 618, 857 50, 592, 255 50, 026, 602
f;’t LHARARMEENERARE (13) = (11) + (12) 159, 706, 559 100, 284, 624 59,421, 935
o [EREEEE (14) 0 0 0
;‘ TOAMOTEIEEREAZE (1 5) 760, 743 334, 233 426,510
@ | ZOMOIEIEFEIEE (1 6) 0 0 0
é’ﬂ IREBEMSEEMESRERE (17) = (13) + (14) + (15) — (16) 160, 467, 302 100, 618, 857 59, 848, 445

1/1




